A & ol & AF & Ml A
20175 & 204 B3

200 Al2l=+=¢

210 o HAM A=

09 i 0

212 gz +¢ (&)
Z2-2-8-5 Oll &F o & E Ol At Hns2

E5 Al 9,921,988 9,913,224 8,764

200 M2l +=¢ 9,901,988 9,894,924 7,064

210 & HAN 2= 9,675,988 9,592,028 83,960

212 AHBE ¢ 10,488 21,528 211,040

212-08 JIEtAE ZE 10,488 21,528 A 11,040

[ 23 ] 10,488 21,528 A 11,040

< AL > 10,488 21,528 A 11,040
OZHAHIISA2AAE 24 AEE+E 10,488

213 =8¢ 8,865,500 8,570,500 295,000

213-02 Al MelS F &0 =+=¢ 8,500,000 8,200,000 300,000

[ 2etsl A ] 8,500,000 8,200,000 300,000

< AL > 8,500,000 8,200,000 300,000
OoXedixdelSsE &+ 6,500,000
OSAERHIIS EREE(Z) B+ 1,000,000
O3 SASFHII=S RFID M2l===2 =¥ 1,000,000

213-04 JIEt===2 365,500 370,500 A5,000

[ el A ] 365,500 370,500 25,000

< A > 365,500 370,500 25,000
OHJIZE g2 5,000
OUEHIIZE Mel+=== 360,500

214 At =g 800,000 1,000,000 200,000

214-01 AHH & A pb= Q) 800,000 1,000,000 200,000

[ L3I ] 800,000 1,000,000 200,000

< AL > 800,000 1,000,000 200,000
OZHAHIISAZAE HSEIH = 600,000
OZHAHIISAZUAE HAEI = 200,000

220 SAIEH A2l == 226,000 302,896 AT6,896

223 M =LUEHES 180,000 180,000 0

223-05 WEH = 180,000 180,000 0

[ el A ] 180,000 180,000 0

< AL > 180,000 180,000 0
OHJIS2cld FEtUES 180,000

224 JIEt=+=¢ 46,000 122,896 AT6,896

224-06 12 =¢ 46,000 122,896 AT6,896

[ LEH3IH ] 46,000 122,896 ANT6,896




220 SAIHAN LA+

200 Al2l=+=¢
224 DI Et

S
2t

ol

3+

100

© O |l o |lo|lo o o oO|lo |l o o o
()] O |l o |lo|l o o o oOj|lo |l o o O
@ NR|e |88 8« Lo |e o B0
N ) — —|-]- < -
oo |5
El
ES)
© O |l o |lo|lo o o oO|lo|lo o o
D O |l o ||l o o O oO|lo |l o o O
3 | ® Q| R[R[R B X el v o
= |
H
|
Kl
o O O |o|lol]lo|loo o o o |lololo o o o
o O O |o|lol]lolo o o o |lolo|lo o o o
S e elelelele @ <2 Qegefele @ e <«
O O O || oOoOoO|]o|lo o O o |l|ojlo]l]o o o o
I | ¥ S |8« f—~-]- - - =-|-|--]- - = -
<
=
al
<
30
0H
K0
Y]
=
oir o
. Mo
__mo %
A =
c kgl
N < ulo
K0 ,LA fo
Al
< Ki
no T
OHy —!
— K4 b=
~ _.__out_ o
= :_o::_;._ .
N ::x._i A _ A
"B K| =) = =
4 A0 H|H|S <4 Py <
® O m (g nr| L %0 L R0
v K| —| 5 v s} v
H )
o
o




= A
N = 0 & AF S 99 N A
20178 = 20l A LB H L IJIEIEE S H & A
25 A
M Z 2T A =M
ool BEE MEBHY IPRI| (B9 ®R)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol &F o4 %@ﬁ HRE2
= A7 44,670,687 45,271,523 A 600,836
= 10,000
= 10,000
Al 44,650,687
22 A =4 31,304,285 31,257,296 46,989
= 10,000
o= 10,000
Al 31,284,285
MAESH MEEIA IR 23,971,955 22,425,268 1,546,687
= 10,000
o 10,000
Al 23,951,955
SEMHH Y =842 I 130,000 118,300 11,700
= 10,000
= 10,000
Al 110,000
301 et A= 130,000 118,300 11,700
= 10,000
& 10,000
Al 110,000
11 JIEtE &= 130,000 118,300 11,700
SEHHYE =HEAZ 130,000
= 10,000
& 10,000
Al 110,000
AMEMD] 2] 20,541,265 18,645,323 1,895,942
201 gEt24y| 570,886 581,056 A 10,170
01 AP 22| H| 570,886 571,056 A 170
OMAHADIESEM S5 L SASMY I SEA
HSHEE DA EXTE OHZE 50008 + 5000 2,500
OMHDIEHMEE HE 424,600
—-54 312 * 100,0000H 3,100
- 104 392 = 2,000,0000H 78,000
- 204 58& = 3,000,0000H4 174,000
- 504 121 * 500, 0000H4 60,500
- 1004 218& » 500,0000H4 109,000
OMelJI =M OHCH J 2 44,000
—-50¢ 400& * 110,0000H4 44 000
OMYJIESHH=E HI2E 2N
7& = 9,000,0000H4 63,000
O222 Mg 7¢ 121& * 40,0000H 4,840
OMYJIESEED 20HH =42
108,000 * 12& 1,296
OMEMYD| BHEHL E22 HE 21,250
- Mt 80& = 100,0000H 8,000




M HA
M A =4
S WEE WEER IR (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-89 55,000& = 1504 8,250
- AEIA 100& = 50,0000H 5,000
OMEHIIES =& - 2 HEYH ZIoHAF =
g 2,800
-EOISIRE fl &g
70,0003 * 23] x 5% 700
-EIEIG FIY &g
70,0003 = 3¢ = 10H 2,100
OUHEHIIENE BMHE ZH Y=
800,000& = 33 2,400
O=HEAL & 225 4]
7,000& = 3098 = 58 « 43| 4,200
202 Odl 4,500 4,500 0
01 = LHA YI 4,500 4,500 0
OFazelgd g42F& ol 4,500
203 R =&l 2,000 2,000 0
03 A F=XH R =ZH| 2,000 2,000 0
OFBLAHMFX HRFLH| 2,000
207 A RO H| 43,000 38,600 4,400
01 289 43,000 25,000 18,000
OFA2HRUHY JdutE Y
28,000,000 = 14l 28,000
OMEHIIES =& 2E M HIHEdA
15,000,000 14 15,000
307 21201 A 19,920,879 18,019,167 1,901,712
05 RIZteIEt = 19,920,879 18,009, 167 1,911,712
OMEMYI| 27 - 20 £ (&=
23,066,000,000& /12 = 10& 19,221,667
OUEHIIE =& - 28 =
386,874,000 * 141 » 70% 270,812
OUEHIIZ2 MeUWHS(HIIE HSHR)
153,000& * 4,000& * 70% 428,400
Mol EHEI S©= 266,464 244,639 21,825
101 124 dl 226,964 220,339 6,625
4 JI12ZtHZ22XEE+ 226,964 220,339 6,625
OSESI ¢£& =4 3,920
—-gs= 200,000& = 79H 1,400
-=s= 150,000& * 79 1,050
-ot= 100,000 * 7 700
-9 20,0008 * 74 140
- OtE S (&Y 3t) 50,000& = 79H 350
- OtM X)) 20,000& = 7H 140
—dod 20,000& = 79H 140




M HA
M ZREA =4
S WEE WEER IR (&)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
Oggsoid=d =2 320l
7,000& * 541 « 7H » 123 2,940
OSHESIIHSE o2 (Z2H 7Y) 173,520
-Jles 60,0003 = 22 + 7H » 123 110,880
- RE5gsE 110,880,000& /5 22,176
—-xt==g 60,0008 = 7 = 128 5,040
-—wEE XMl 5,000& * 7H » 22 « 123 9,240
- g4l 5,000& = 798 « 22¢ ~ 123 9,240
—-4EE= 147,336,000& * 11.5% 16,944
OSYSIl & LXXYI =4 Mg (d
AAFS) 51,7603 = 30 » 30 46,584
201 24l 19,500 15,300 4,200
01 At 2t 2l 16,500 12,300 4,200
OFLABE 2¢ 2,500
oMl 28 EI =X SHUE M 2,700
OEYE) MdEHII=2 AeH™el === 4,000
OSY S AR 288 23 7Y 3,300
—-SM3 40,0003 = 204 800
-Zad3 50,000& = 504 2,500
OBZEME clean 1365 A SAt 235372
508 » 100H& » 2,000& 1,000
OFZXZE0 FaxEZ 7Y
309 + 100 « 10,000& 3,000
02 =224l 3,000 3,000 0
OMgDl 2HEI B8 JSUE MEZ
50,000& = 504 = 123 3,000
401 Al HI L =2 Tl 5,000 0 5,000
01 A& Bl 5,000 0 5,000
OEYE) &4s5X9Y NEXYH AIAY
500,000& = 10CH 5,000
405 Xt&tE SHI 15,000 9,000 6,000
01 AL = ZH SHI 15,000 9,000 6,000
OMeIISEED ©£E AEZDE &X
3,000,000& = 504 15,000
sSASMY Il 2el 2,875,234 3,172,105 A 296,871
101 @14l 57,714 53,789 3,925
04 DIt 22 s+ 57,714 53,789 3,925
OSAMERHII=Z SEM =2 € & 82 2
£ 57,714
-Jl2= 51,7603 = 8F = 100 41,408
- R=25gsE 51,7603 * 8Y » 20 8,282
PN =R =y 51,7603 = 8H » 5¢ 2,071
—404 282 51,761,000& * 11.5% 5,953
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SN HAD

M. BETA =4

ool S MEHA IR (el @2)
- - _ =]

SAH-EB .S (3H) - HEAY - BE2 0 AF o il HD=2
201 Bt A | 170,520 429,556 N 259,036
01 AP 2t 2l Yl 150,520 341,020 190,500

OSASRHIIS BH =0 o 2y 222
Ml 14,500
- & 100& * 90,0000H 9,000
-s=g 55,000& * 1004 5,500
OSAMNEEHIIEZE HF2E3 ME 45,000
~JREE(F) M 308 * 1,500,000 45,000
OSASRHIIS NHASHIAL FINBM 2
== 2,600,000& * 13 2,600
OSBAMERHIIZE HRE3S 38 HILSE
200& * 12,5004 2,500
OIS AFID 4280 UE 2el++8
1,000& * 106,000AMICH *= 10% » 8& 84,800
OSAMNESHIIE YHAMAHE HIIRR =E
70,0003 * 23 = 8Y 1,120
02 22| 20,000 88,536 168,536
OSAZRHIIZ NHANE FX24 20,000
“HANEE @ FH AL 24
9,000,000& * 14 9,000
- NS H2ANE SANE> 9,000
-F BNy B4 2,000
207 AT OH &b 7,000 0 7,000
01 A& 49| 7,000 0 7,000
OSAZEHII2 Halbl |ltetE 4 7,000
307 QI2t0l M 2,640,000 2,563,760 76,240
05 012t &2 2,640,000 2,563,760 76,240
OSAEZHIIZE Q2L A |AE XY
110,000 *» 15& = 300& 495,000
OBAMEFHIIE NRSANE A=
55,0008 * 130& * 300¢ 2,145,000

MessEs 22 110,892 114,505 AN3,613
101 @121l 35,092 32,705 2,387
04 JI2ZtH22XNEE S 35,092 32,705 2,387

OMEEZE S22l 28 MEEAWMNEA 28

2 35,092

-J|I=23 51,760& ~ 8% » 60 24,845

-S=25¢xY 51,760& » 8" * 13 5,384

—-HRITE 51,760& = 8% » 3¢ 1,243

-4 B2 31,471,000& * 11.5% 3,620
201 Yute | 69,600 56,100 13,500
01 AFR2 22l Yl 47,700 36,700 11,000




SN AT
2|

M YA =24
S WEE WEER IR (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ONgss, 1383, dsHJIE g2 M
150& = 5,00000 = 43 3,000
ONess8ddEd Al HEMS (AL S)
- 1,500& = 3,000H 4,500
OB0|H Z2elthEs WEES (MMSEX) 2L
400& * 20,0002 8,000
OHHEX 22thE NSES(HEX )7L
800&  5,000% 4,000
onMaes 2el=AH& 300,000& = 204 6,000
OMNMEES 0t ¥ HEFY 20,000
-MEE8 HILSS(120L)  200& * 50,0000H 10,000
- &8 PPOLOH(200L) 2,000& = 5,0000H 10,000
OH =% 0tUMZ D& FSXNE=
300,000& = 404 1,200
OH =% tHHME 2235 7Y
50,000& = 203l 1,000
02 3323l 19,900 17,400 2,500
OZsHlIE 2sdotd KRSl
1,000,000& * 5JH & 5,000
OoOMaEs 48z 2el 12,500
-WEEE H4EF R4
5,000,000& = 13l 5,000
-HEEE OEET o =
5,000,000& = 13l 5,000
- HEESE HdEE, SH=UUXSAIE 2HU
2hE FH| 2,500,000& * 14 2,500
OUEIIAE R4 dHGE N3
200,000& = 12JH& 2,400
03 A2 Z Hl 2,000 2,000 0
ONGEH WES 2222 23|
1,000,000& * 23| 2,000
202 oddl 4,200 4,200 0
01 = LH o4 1l 4,200 4,200 0
OoNgsgd 2= ol 4,200
301 L2 A F 2,000 1,500 500
MIEE43 2,000 1,500 500
Ol =& 243 50,000& * 30& 1,500
OHIEIIEZE3 0IX2 B a3
50,000& = 10A 500
HOI= 2cl 14,500 91,396 76,896
201 Let49] 1,000 1,000 0
01 At 22l 1,000 1,000 0
OHJIE =224 A2
100,000& * 100H £ 1,000
202 4l 3,500 3,500 0




M HA
M ZREA =4
ool S MEHA IR CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH o4 1l 3,500 3,500 0
OmViszelgd g2F8 ol
7,000& = 5¥ = 100 3,500
401 Al HIZ 201 Y] 10,000 86,896 AT6,896
01 A& HI 10,000 86,896 AT6,896
Os2d HIIZE Ml 250,000 * 40& 10,000
20 oSN 22 33,600 39,000 A5,400
301 et a = 33,600 39,000 25,400
MIIEBE4d3 33,600 39,000 A5,400
OXtg 0t HASAU HAE? 2yl
30,000& » 140JHEHXl = 83 33,600
HIIE2 M2IAE 22 7,332,330 8,832,028 A 1,499,698
s =24 552,060 551,390 670
201 Let24] 186,740 194,930 A 8,190
01 At 2t 2l 114,740 125,960 A 11,220
OWEE EA2Y AA 222
950,000& * 2IHA * 4K & 7,600
OMBIE LMIA HA 22
300,000& * 20H 2 600
OMBE B2+ S £+TAN 42
350,000& =« 343| 11,900
OEd AJtd e s
200,000& * 20 A 128 4,800
OMEE B2ANRA RoIHY 42
110,000 = 128 * 200 A 2,640
ONEE BYUSX UXE ZHHI +42
3,000,000& = 20Xl 6,000
ONYE ¢ F&24H2lT 222y 225 7
2 3,000,000& = 14 3,000
Ox=ZZA =8 72¢ 3,000& * 40004 1,200
Ol HALX AXZ (192X, 48,976 )
65,000,000& * 14l 65,000
O=EEE EAL & &+ 2EE FHIIXNE
1,000,000& = 123/ 12,000
02 23=2gHl 72,000 68,970 3,030
O & 22X 2g| 6,000
OEd |SXLE=H 30,000,000& = 14 30,000
OMEXE ®Il ¥ 44& 22
3,000,000& * 12& 36,000
206 = Hl 7,000 7,000 0
01 24l 7,000 7,000 0
OF=xXMelAE 45 7 7,000
207 51 OH £ Hl 26,000 0 26,000




SA: HAD
Hm: 22

Al =4
2 HIIE2 MelAdE 89 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 | 26,000 0 26,000
OAMNZMEE S EIEE XA 29 26,000
307 QI2t0| ™ 201,120 240,000 A\ 38,880
05 QIZtREZ 201,120 240,000 A\ 38,880
OXSHII= HEANE 22t =
150,000,000 = 1Al % 80% 120,000
O=294d HIl=2 29 Hdel 28]
18,000€ = 2,300& = 80% 33,120
O&=4 H2lAlE A2
60,000,000 = 141 x 80% 48,000
308 XNXISHSO0lI& 101,200 79,460 21,740
07 AIXISHHZ2ES 2 101,200 79,460 21,740
O=2d4d HIl=s2 29 Hel =&
44,0008 = 2,300 101,200
401 AlEHIZL 2 0HY| 30,000 30,000 0
01 Al&EH| 30,000 30,000 0
OHE AE E=Z2 A 30,000
A2ZAE Y 6,780,270 7,680,638 A 900,368
101 e1214| 57,730 53,298 4,432
04 JI2tHIZ22XNEE S 57,730 53,298 4,432
OA2ZEAIE FO2AIE 2124H| 57,730
-J|l23 51,760 * 28 x 312 32,299
SaFLSE 51,760& * 2% x Hh2=x 5,384
—AXE 51,760& x 2 x 12&€ 1,243
-2 30,730& * 2 x Hh2g 3,196
- X224 9,700& * 29 * 312¢ 6,053
-4 BEg€ = 48 172,240& * 11.5% 5,540
—-g &2 2,007,170 = 24 4,015
201 LBt ]| 60,240 60, 240 0
01 AP 22| H| 60,000 60,000 0
OMEHIIZ HBH YARIS ZUYXE
1,000,000 * 60 60,000
02 22244l 240 240 0
ONeEHAE S22 20,000& * 12€ 240
202 044 2,100 2,100 0
01 2L bl 2,100 2,100 0
OFAMANEEY H2FX HH|
2,100,000 = 14 2,100
207 I & 9,000 29,000 A 20,000
01 A& | 9,000 29,000 A 20,000
OQHIISAZAA QI2HAE JAINE 2 7,000




25 A
MM SRYUCA TH
2 HIIE2 MelAdE 89 (2 &HH)
_ RE]
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
OHDIZ42AAE SIS %= 2885 89
,000,000& = 14! 2,000
307 2iz2to| & 5,307,200 6,726,000 AN 1,418,800
05 QIZ2tREF 2 5,307,200 6,726,000 A 1,418,800
OA2AE A2 500,000,000& = 10€ 5,000,000
OJted Hol2 29 Hdel &8t
19,200& = 20,000€ = 80% 307,200
308 XNXIGHHMSO0l& 1,344,000 810,000 534,000
07 AIXISHHZ2ES 2 1,344,000 810,000 534,000
OJteld HOIE ZeMel +48
19,200& = 70,0008 1,344,000
HIISHEAEBAIEEEIH 29 13,098,238 5,948,179 7,150,059
HIISHEANEALEESH 2 (HIISHEIAEAY 13,098,238 5,948,179 7,150,059
S43H)
HIISXKelAEAS S LS H olgl bl 12,480,238 5,653,179 6,827,059
801 ollgl bl 12,480,238 5,653,179 6,827,059
1 B0 H| Bl 12,480,238 5,653,179 6,827,059
OQHIIZXeIAEASEEL S AH olidld] 12,480,238
HIIS2XelAlE SR =4 118,000 270,000 A 152,000
202 044 3,000 0 3,000
01 2L I 3,000 0 3,000
OZd9sg & HugtXd 23 AR2FX 0| 3,000
203 R F & 5,000 0 5,000
03 AIZH =X 2 F X H| 5,000 0 5,000
Omos U MOSZH e AMASZY| 5,000
207 I & d 110,000 110,000 0
01 A& | 110,000 110,000 0
OHIISHEAE EESGHIXTS AR AH| 110,000
- X EBIYH T A S9H| 50,000
~HAHAYHFLOL S| 60,000
SAZSFRHIISKSAIEEX 500,000 0 500,000
401 Al HI L 2 0HHI 500,000 0 500,000
01 Al& H| 500,000 0 500,000
O38SH % HIOIIIA HUKXISHAIE AEX 4
2 At 500,000,000 = {14l 500,000
HESAAH (EAW) 93,164 92,048 1,116
olad 2 A Y| 12,704 12,988 N 284
ol =AY 12,704 12,988 N 284
101 Q21| 12,704 12,988 N 284




M HA
M HY2IZH(HA)
Sel: o2y (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 RIAHAZ 22+ 12,704 12,988 A 284
OSESIHER S22l
7,000 * 64 « 118 « 123 5,544
OS8SIItER II=H| 6,160
—-gst= 200,000& = 114H 2,200
-5 150,000& * 11 1,650
-ot= 100,000& * 11&H 1,100
-9 20,000& » 114 220
- OtE S (&Y 3t) 50,000& = 11H 550
— OtM X7 20,000& » 114 220
—dod 20,000& » 11H 220
oddler g & Fo 22 XMAlH
1,000,000 = 14l 1,000
JlEZl 80,460 79,060 1,400
JlE2&tl 80,460 79,060 1,400
201 Let2d] 22,260 20,860 1,400
01 At 22l 22,260 20,860 1,400
OJI=ARESE 2l 750,000& = 123 9,000
OJIEt =&t 300,000& = 12& 3,600
Oorzt & FL2 2L S4ldl 9,660
202 4 Hl 52,800 52,800 0
01 = LH 4 Hi 52,800 52,800 0
O 2= JIS2YERFANHI
220,000 = 209 « 12& 52,800
203 YR =2t 4,200 4,200 0
04 EAS2IYRFLH| 4,200 4,200 0
ORN2EYRF=AHI 350,000& = 12& 4,200
204 AR HH| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
OUFAHMNIHRFAH| 100,000& * 123 1,200
Heas(Han) 175,000 7,974,000 AT7,799,000
HEAHHK = 175,000 275,000 A 100,000
=z d&E= 175,000 275,000 A 100,000
702 JISEEZ 175,000 275,000 100,000
(O RIE=RSE= 175,000 275,000 A 100,000
OFFA2AE FHIA F2UXE I3
175,000,000& * 14 175,000
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